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Quiz 5.1B AP Statistics Name:

I.  The probability of fipping four coins and genting four “heads”™ is &
{a) Interpret this probability
IF M Cows Wiae FLiffip Many, MAnY TiMES,
ThE PRoPoRTioM OF Times At Y Comb Wouwo
fome UP W Hpasy” Wourns BE AeouT I

(b) You flip four coins 32 times. Are you guaranteed to get four “heads™ twice? Explain.
f_%l WHiLe WE can Patpier THE Pasfor Tiown
oF Tiess Wi CET N nEass v Tug Lowk AU,

IN THE S hkoarT Rud TwaT PeopoaTionl 1S

UNPREBICT AR LE.

1. Youare playing a board game with some fricnds in which each tum begins with rolling two
dice. In this game. rolling “doubles™—the same number on both dice—is capecially
beneficial, You've rolled doubles on your last three turns, and one of your friends says, “No
way you'll roll doubles this time, it would be nearly impossible.” Explain to your friend
what he doesn 't seem to understand about probability
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3, A school’s debate club has 10 members, 6 females and 4 males. 1f the ream decides 10 pick
two members randomly to participate in a debate, what is the probability that both of the
chosen members are female? We want 10 use simulation 1o estimate this probability
Describe the simulation procedure below, then use the mandom number table on the nexi page
ta carry oul 10 trials of your simulation and estimate the probability Mark on or above each
line of the table so that someone can clearly follow your method.
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Quiz 5.2B AP Statistics Name:

L. 1he table below i a probability model fir the number of cars in a randomiy -s¢lected
houschold in the United States. (Based on U.S. Census 2000 data)

Number of cars 0 | 2 3 4 § or more
Probability 0n.07 0.19 047 19 7 01,06 0,02

{a) What is the probability that a randomly selected household has three cars? (That is, fill in
the space marked with a “7™") Show your work, [
ALL Twe Paoga e-n.'u.'rrﬂ s musT A0 Te 4

‘Pf‘b:.an\} | =97 =

(b) What is the probability that a randomly-selected househald has at least 2 cars? Show
your work. @
P(st lecst dcews) =. 17 +,19+,0L 102 L

white the pocdi I'+Y shedemed

FoLl CRLE®T
To 687 show we-k

2. Last Saturday ai Pasquale’s Pizzas and Wir served over the course of
the cvening. Fifty-two customers ordered pizerTRd 16 ordered buffale wings. Twelve of
these customers ordered both pizza and wings. Euppmruuhtummﬁmlln
Saturday at random.

{a) Fill in the Venn diagram below so that it describes f@mmm here. Let
P = the event “ordered pizea” and W = the event "o WIS,
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(b) What is the probability that a randomly-chosen customer did not order wings or pizza?
Justify you answer with appropriate calculations.

'P(Na}“‘\e«* wiA}:. o Pizz..o‘.) -

Degree (+1'1¢bo :_s__n__if)____

ok

o

Sk

e

La

% (Gurs

3. The table below gives the counts (in thousands) of earned degrees in the United States ina
recent year, classified by level and by the gender of the degree recipient.

- Pngs o Pz
J -

fZ)

Bachelor's Master’s Professional Doctoral Total

Female 616 194 30 16 856
Male 529 171 44 26 770
Total 1145 365 74 42 1626

Suppose one degree recipient from this group is selected randomly

(a) List two mutually exclusive events for this chance process.
F-em:lt. oand Maeale

@ ﬂnuy Pair o+ dégree; +yf’65

(b) What is the probability that the person selected earned a Master’s degree?
P( mAstees Décees) = 3sS ~ r -
A

/Ge-.%

(c)What is the probability that the person selected earned a Professional or Doctoral degree?

?(Pra de SsiuaL oe Doc'k:;r!f-l) = A+ lu:@
[}

Jeal
(d) What is the probability that the person selected is female or earned a Master’s degree?

st 36S IQ4
’P(‘Pﬁﬂ’nlﬂ or /ﬂes{—w.:> £ o= i~ u.,.?b
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Quiz 5.3B AP Statistics Name:

1. What age groups use social networking sites?” A recent study produced the following data
aboul 768 individuals who were asked their age and which of three social metworking sites
they used most often. (People whe did not use such sites were excluded from the studv).

Age Group (Years)
Web site 0-24 25-4 45 -4 Over 63 i otals
Facehook 2] 105 1 12 308
Twitter 46 110 1k 7
Linkedln 15 97 9 9 216
Totals 138 312 (:m] 28 768

Suppise one sabject from this study was selected at random.

(@) Iind the probability that the selected subject preferred Twitter.

?(T\ﬂl‘ﬂhﬂ) a m -
g OB

(b) Find the probability that the selected subject prefiermed Twitter, given that he or she was in
the
45 — 64 age group.

'P(Tmaﬁvl‘iﬁ—n-b. a%n ¥ (339)

(€) Are the events “prefered Twitter” and “nge group 43 — 647 independem? Explain.
E’Q (‘M ‘Pﬁ'hhillﬂl': Tound in o +e)
2 Plrine) F P(Tuiser | #¥-c4)

1k * a7
(d) Are the events “preferred Twitter” and “age group 45 — 647 muwally exclusive? Explain.
N0 Theve are §l iadinduls et Fr:-‘ﬁ— Tnther
ﬁ kG behwrean 45 -(M,
Thets 7 +he Gtiurenc® oF oae euest do€s not
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P Chovier) = Z1Y

163
(e) If a random sample of two subjects were selected, what is the probability that neither
preferred
Twitter?

5a4 A3
P (Mot Twinea /) Mot 'T'w‘iTtEe) = Ty * T

2. Some days, Ramon drives to work. The rest of the time he rides his bike. Suppose we
choose a random work day The following table gives the probabilities of several events.

Event Probability P(D")
Drives to work 0 20 — L
Drives and is late for work 0 05 — P (D/]
Late for work, given he bikes 0 30

S~ p(Lle

(a) Find the probability that Ramon is late for work, given that he drives.

: _ P(LATE and Drived 18y
P(LRTE_ \'DQ,\UE;) = = [l = "ag FH1AS

(b) Find the probability that Ramon is not late for work, given that he drives.

rd Drives
P(por LﬂTE\Dd]ugg: P (nor taTe ord Drives)

T P (Dries)
h‘"iﬂ PIRL D)= - P(L)) = |-35=,73
(c) Drawa tre¢ diagram o summarize the given probabilities and those you d
above. ,0%
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(d) Find the probability that Ramon drove to work, given that he is late.
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